GRADE 4 — LESSON 5-MONTHLY TEST
Time allowed: 40 minutes
INAMC: oot Class: 4.TA....

P1 Leta©b=(a+1)x(b+2). Calculate (Tinh): 9 © 99 =?
P2 | A pattern is shown be;low. What will bevthe 51% fruit of ths pattern?
{010 { 0 8@ VY.
H F .0 e .0

P3 What would be the last 2 numbers in this sequence: 1, 1,2,3,5,8, 13, ( ), ( )?
(Tim 2 s6 tiép theo trong ddy s6 duwéi déy?)

P4 John and Ken are going to share 6 apples. How many ways can they do this if no
one is left without any apple?
(John va Ken chia nhau 6 qua tdo. Hoi co bao nhiéu cach chia sao cho khong co ai
khéng dweoc qud tdo ndo? — coi cdc qud tdo la giong nhau)

P5 How many rectangles are in this figure?
(Co bao nhiéu hinh chir nhdt trong hinh dwoi day?)

P6 Aaron is waiting in a line. He is in the 5 place counting from the front and he is in
the 8" place counting from the back. How many people are in this line?
(Aaron dang xép hang. Cdu dy dirng thir 5 néu dém tir trén xuéng va dirng thir 8 néu
dém tir dwéi 1én. Hoi ¢é bao nhiéu nguoi dang xép hang?)

P7 Fill in the missing number: 3, 4, 6, 10, 18,34,
(Dién s6 con thiéu vao day sé dudi ddy)

P8 A string of coloured beads begins with a red, then a green, then a blue, then a
yellow. This pattern is repeated many times. What colour is the 26" bead?
(Mgt xdu gom cdc hat c6 cdc mau sdc theo qui lugt: mau do, mau xanh la cdy, mau
xanh da troi va mau vang. Qui ludt do tzep tuc lap lai nhiéu lan. Héi mau ciia hat
thur 26 la mau gi?)
(A) red (B) green (C) blue (D) yellow (E) white

P9 How many (3 are equivalent to the weight of one @@f@ ?

op
Sob
(?2)=

P10 | A snail is climbing up a wall. The height of the wall is 35m. In the daytime, the
snail will climb up 7m but falls 4m at night time. It begins to climb at 2m from the
ground. What is the total climbing distance in meter, when the snail reaches the top
of the wall?
(Mot con oc bo 1én mét bire hrong. Chiéu cao ciia birc twong la 35m. Vao ban ngay,
con éc bo 1én dwoc 7m, nhung dén dém no lai bi tut xuong 4m. Con éc bat dau bo
Ién tir d§ cao 2m so voi mdt dat. Hoi tong quang dwong ma con oc dé da di chuyén
cho dén khi lén dén dinh cia birc twong la bao nhiéu m?)

P11 | There are 2 natural numbers, a and b. a * b is the sum of the quotient and its

remainder when a is divided by b. Example: 4 *3=2;2 *3 =2,

Calculate: (188 * 3) * 8 =?




(C6 hai s6 tu nhién a va b, ki hiéu a * b la tong ciia thwong va soé dw khi a chia cho
b Vidu:4*3=2;2%3=2.
Tinh (188 *3) *8=7?)

P12

In the diagram, the arrow ‘—’ means ‘is half of’. For example,

‘I 1] — /N means ‘[_] ishalfof A,
0><A
L] ]

If <> is 8, what is [ |?

(A) 2 (B) 32 (C) 4 (D) 16 (E) 64

P13

At half-time in a soccer match between Newcastle and Melbourne,
the score was Newcastle 1, Melbourne 0. Three goals were scored in
the second half. Which of the following could not be the result of
the match?

(A) The match was drawn (B) Newcastle won by 2 goals
(C) Melbourne won by 2 goals (D) Newcastle won by 1 goal
(E) Newcastle won by 4 goals

P14

Place the numbers from 1 to 7 in the circles, so that the sum of the numbers on each
of the indicated lines of three circles is the same. What is the number at the top of
the triangle?

P15

Fill the correct answer in the blank as shown in the figure below:

2PLLY
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